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SA: ZADRES Ot
Hu: C A
chel: SAIHE 2] EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CAIDHES Dbt 8,729,972 25,709,888 16,979,916
= 1,379,500
[ 495,000
= 278,530
o 6,576,942
CAIAE 5,303,760 4,226,460 1,077,300
CAH =2 772,760 1,093,960 A321,200
2| A= ZHl 723,760 1,033,360 A309,600
201 2egh=3| 14,760 14,760 0
01 At2t2ltl 14,760 14,760 0
Ogit=3ZH| 3,000,000& 3,000
Ofde 28 =¥ 100,000 x 15 *43] 6,000
o=l 8,000& x6&»120& 5,760
202 04| 6,000 15,600 9,600
01 =LHOHI 6,000 15,600 29,600
OzZ2e|H= EHl & ZAHE dRF
6,000,000 6.000
203 HR=H] 3,000 3,000
03 A=A 2= 3,000 3,000
OZADHES IR =& 3,000,000& 3,000
401 AIZHIX S0HH 700,000 1,000,000 300,000
01 AlZH| 700,000 1,000,000 A300,000
Ogdz 2l H= () =& 24
300,000,000 300,000
OADIE TAIAE+E 89
400,000,000 400,000
NEHOIZE LB 49,000 60,600 A11,600
201 Ler23| 5,000 6,600 21,600
01 At2teltl 5,000 6,600 1,600
OXEN WS 29
5,000,000& 5,000
301 EetE NS 2,000 2,000
11 #AIAHIXIE S 2,000 2,000
OX&EN tENE H0H-E
2,000,000& 2,000
307 elztol & 22,000 22,000
06 2= 22,000 22,000
Oz MEANES It 22,000,000 22,000
401 AIEHIKL =] 20,000 30,000 10,000
01 AlZH| 20,000 30,000 10,000
ONENEZ RAES 20,000,000 20,000
CAHEEZ 2 4,531,000 3,132,500 1,398,500
01 TAIHEAE R OINSSEXN 24 150,000 200,000 50,000
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2 - IE!
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401 AIEBIZ20HbI 150,000 200,000 A50,000
01 Al&Hl 150,000 200,000 250,000
OFJ| 018d ZAIH=AIE & OIX=SEX
sS4 150,000, 000& 150,000
TAIHEEZ KX 1,650,000 1,701,500 251,500
401 Al&HIZ 20| 1,150,000 1,000,000 150,000
01 AlEHI 1,150,000 1,000,000 150,000
OZAHEEZ &L AMEE2 FXIZSIAR (61
s.9) 300,000,000& 300,000
OMEEZE MHLA (6 S.01)
100,000,000& 100,000
OZAHEEZ THER L Xt AR (60
=.9) 200,000,000& 200,000
QEAIﬁl%‘@E‘.HIﬁl(UPIS) OBeldtst & /A&
2l =2 20,000,000& 20,000
OEEE AIDHX =8 HHIALE
500,000,000& 500,000
O=AH (L2242 A L) SAIHEEZ i
ZELAA 30,000,000 30,000
403 REXISHHIS K201 & 500,000 701,500 A201,500
02 I 2SS A2 X | EFAIS I 500,000 701,500 A201,500
Q20244 I SHHEEZ X SSHAS
500,000,000& 500,000
SAHERGEH 23R KA 31,000 31,000 0
201 L2 | 1,000 1,000
02 324l 1,000 1,000
OUof= s|LFA Z2XH MRS
1,000,000& 1,000
401 A& B2 20| 30,000 30,000
01 AlEHI 30,000 30,000
OZAAHE RS W 233 A2
30,000,000& 30,000
SAHE E2HE AL 2,700,000 1,200,000 1,500,000
401 AIEHIZL 201 2,700,000 1,200,000 1,500,000
01 Al&HI 2,684,160 1,195,680 1,488,480
OFFEXR(AR2-167) SAHEEZZ HEAIY
996,400,000& 99%,400
OFEXR(LE2-168) TAHEEZZ HE ALY
893,520,000& 893,520
OZA(AR33) TAIHEZZ LA
794,240,000& 794,240
03 AIE =2 CHHI 15,840 4,320 11,520
OFEXR(AR2-167) TAHEEZZ HEAIY
1,000,000,000& *0. 36% 3,600
OFEXR(LE2-168) TAHEECZ LAY
900,000,000 *0.72% 6,480
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OZH(AR3ZB) TAIHEZZ HEAY
800,000,000&*0.72% 5,760
IHESOF XMel 81,820 89,291 N7, 471
HES O MBI 81,820 89,291 AT,471
HESIIE AHIA gt 68,220 75,691 AT,471
201 =3 50,620 53,891 A3,271
01 At2t2ltl 50,620 53,891 N3,271
Oget=ZH| 15,000,000 15,000
O%ldz 28+¢ 200, 0003 «7H*122] 16,800
o=l 8,000& x7& 120 6,720
OENLHS B ST+
1,000,000& 102 10,000
O3 CIGIINEE B LIS
300,000 7 2,100
202 04t 17,600 21,800 N4,200
01 201l 17,600 21,800 £4,200
o LIRS E
150,000 7 * 122 12,600
OsNE2dRgs fFUds H2X e
5,000,000& 5,000
UrdatsE A rd X 13,600 13,600 0
201 er23 | 13,600 13,600
01 At2teltl 9,600 9,600
OUMateI Nt xd Xt Xt
800,000 * 12 9,600
02 S3=gHl 4,000 4,000 0
OUNAMSNHEEE It FFHI
4,000,000& 4,000
FHeEE e 456,760 13,892,000 13,435,240
= 2,000
< 37,560
s 417,200
sE FHEE i 456,760 562,000 N95,240
= 2,000
== 37,560
[Ea 417,200
= 82,560 74,000 8,560
201 =3 31,760 20,800 10,960
01 At2t2lt] 31,760 20,800 10,960
ozl 8,000 4621202 5,760
OA=SIAE A2
100,000 x 19 +53] 9,500
OZ3U=It 2=+
100,000 58 203 10,000
Oget=ZH| 6,500,000 6,500
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202 04l 10,800 13,200 A2,400
01 2LHoIH 10,800 13,200 A2,400
OB 2xw
150,000 x6& * 122 10,800
402 2IZtA=01A 40,000 40,000
01 QI XHE AL E R (KM TH) 40,000 40,000
Os& Leze N=hzH Ly
2,000,000& +20S 40,000
SeHAl EHIAFY 100,000 100,000
401 Al HIZL 201 100,000 100,000
01 Al&HI 100,000 100,000
OZ &tk ZHl 100,000,000 100,000
S5E L==5 JHIMY 20,000 160,000 140,000
402 212t X+=01 & 20,000 160,000 140,000
01 QI XHZ AL E R (KEHITHE) 20,000 160,000 140,000
OS=g =2=5 JHIAY
20,000,000 * 190 2 20,000
NBSAIEE NS A8t 2EHZA 22,000 0 22,000
401 AIEHIZ SR OHYI 22,000 22,000
01 Al&HI 22,000 22,000
ON3SAlg= NEE s &ExA
22,000,000 22,000
SSFY 2el X At 75,000 75,000 0
402 QI2F X201 & 75,000 75,000
01 PIIXH2 AN 2 X (KT 75,000 75,000
OBEFe =Ml AlE 24
75,000,000 75,000
A2 SSFEY 2 XIS (FAEE) 50,000 50,000 0
== 15,000
o 35,000
402 2I2E X201 & 50,000 50,000 0
< 15,000
= 35,000
02 QIZHXHZ AL E X (01X THE) 50,000 50,000 0
Oxn2 SSFY 22 XML (BEE)
50,000,000& 50,000
= 15,000
Ea 35,000
gE 2E U8 N3AE 40,000 0 40,000
402 2I2F X201 & 40,000 40,000
01 QI XHE AL 2R (KM TH) 40,000 40,000
Otld 8 U=+ XA
40,000,000 40,000
20! Lis==Ar 15,000 15,000 0
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dEE =2
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[ 7,500
= 7,500
402 QIEXH=0I A 15,000 15,000 0
= 7,500
= 7,500
02 QI A2 AL E R (0IHTHE) 15,000 15,000 0
OHEN U=s==Ar 15,000,000& 15,000
< 7,500
= 7,500
BT AHIALY 43,200 51,000 27,800
(= 12,960
= 30,240
402 RIR”EXH=201H 43,200 51,000 27,800
< 12,960
i 30,240
02 QI X2 AL EE(0IETHE) 43,200 51,000 27,800
OBIEEHIAI 43,200,000 43,200
< 12,960
= 30,240
HAIALDI TIoHA EAIXE MelthE OIAF XI& A 4,000 0 4,000
< 1,200
= 2,800
301 LEtENS 4,000 0 4,000
[ 1,200
i 2,800
03 AR 2H A 5SS (XILH) 4,000 0 4,000
OB MAL| TSHA MMA=Z MeltHE Ok
K2 4,000,000 4,000
< 1,200
z 2,800
B - MERR MNESSEEES 258 A2 A 1,000 0 1,000
< 300
i 700
301 LEtENS 1,000 0 1,000
[ 300
= 700
03 AR 2H A5 S(XILH) 1,000 0 1,000
OFE - MERR MNEES B2z B3
= NS 1,000,000 1,000
< 300
= 700
BE MNESSEES EEE NFAY 4,000 0 4,000
= 2,000
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< 600
s 1,400
301 EtE NS 4,000 0 4,000
= 2,000
== 600
[Ea 1,400
01 AR 2EHSHS(RNEXRTH) 4,000 0 4,000
O HNESS 28 258 A
e 4,000,000 4,000
= 2,000
== 600
o 1,400
0 FH=EX S8 11,400 11,400 0
= 5,700
S 1,710
= 3,990
ZOHQ F=o1E2l =Y 11,400 11,400 0
= 5,700
< 1,710
[Ea 3,990
ZOHQl F=ERIHA ALY 11,400 11,400 0
= 5,700
=S 1,710
s 3,990
402 2I2FXH=201H 11,400 11,400 0
= 5,700
= 1,710
Ea 3,990
03 2IZ+AEAIZHI 11,400 11,400 0
OX el F=EIHEZALS 11,400,000 11,400
= 5,700
= 1,710
o 3,990
JI=de2d 1,720,600 1,766,327 N5, 727
= 1,371,800
=S 173,260
s 175,540
FUENF=HAE 1,720,600 1,766,327 N5, 727
= 1,371,800
= 173,260
Ea 175,540
FHSH(=ER) 1,705,000 1,727,500 A22,500
= 1,364,000
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< 170,500
s 170,500
301 EtE NS 1,140,000 1,182,820 N42,820
= 912,000
== 114,000
[Ea 114,000
01 AR 2EHSHS(RNEXRTH) 1,140,000 1,182,820 N42,820
OIEFHEN =24 XS0
1, 140,000,000 1,140,000
= 912,000
== 114,000
o 114,000
403 XM SAH=01H 565,000 544,680 20,320
= 452,000
== 56,500
o 56,500
02 SO 2SS0t et = & 2 € Ari| 565,000 544,680 20,320
OIN=FNS0 =5k =82S0
565,000,000 565,000
= 452,000
s 56,500
s 56,500
FHEAM BtAl S8 X3 AL 14,400 38,827 NP4, 427
= 7,200
=S 2,160
s 5,040
301 EtE NS 14,400 38,827 NP4, 427
= 7,200
= 2,160
Ea 5,040
01 Al EE A S (2 RDEXA) 14,400 38,827 NP4, 427
OFEIEAN BtAl S2 XA
14,400,000& 14,400
= 7,200
= 2,160
Ea 5,040
BIEAAM HZ=X OIAHl X2 AHS 1,200 0 1,200
= 600
= 600
301 22N 1,200 0 1,200
= 600
= 600
01 AR 2EHSHS(RNEXRTH) 1,200 0 1,200
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBIEYNH™ HFXE OIAE] XIE ALY
1,200,000 1,200
= 600
< 600
AF0A Xel 57,210 61,210 24,000
A=0IA AHIA 57,210 61,210 24,000
HR0IA ANHIA ghat 57,210 61,210 24,000
201 er23| 46,210 49,610 23,400
01 At2teltl 46,210 49,610 23,400
Oget+=ZHI 15,000,000 15,000
OABTY AL 248
27,370,000 27,370
o=l 8,0003 x4 120! 3,840
202 04| 11,000 11,600 A600
01 SLHoIH 11,000 11,600 2600
A=Y ALEX
150,000 x5 * 122 9,000
odHd gexd 2,000,000 2,000
SADHE 1,061,542 5,618,540 A\4,566,998
s 495,000
s 66,000
s 490,542
AR 878,642 5,345,640 A\4,466,998
[ 495,000
= 66,000
o 317,642
CANY gdal 68,242 463,640 A\395,398
201 fer= 3| 44,840 79,840 A35,000
01 AtR2tc|HI 24,840 52,840 /28,000
Oget=EH| 10,000,000& 10,000
O= gl 8,0003 x4 120! 3,840
OZAIM EXIZ2d H3lH|
5,000,000& 5,000
OFAMEAIY HEIt A2aA=E
100,000& x10E 62! 6,000
03 A2 I 20,000 15,000 5,000
OZ Aot zs] &t
20,000,000 20,000
202 04l 8,400 10,800 2,400
01 =LHA LI 8,400 10,800 2,400
OZAIMSES 2 EF 0]
150,000 x4 * 122 7,200
OFANEEY 22 £& 04|
100,000& «12& 1,200
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
311 XS0l Rrate 15,002 15,000
02 Sa=8I|12XLS0lAtate 16,002 15,000
O=E=ADIZ OlA et
15,002,000& 15,002
CAIHE XN2HE 24 23,400 0 23,400
201 ger=3| 18,400 0 18,400
01 AtR2te|H] 10,000 0 10,000
OZAINY XJHE 2 Lit=2H|
10,000,000& 10,000
02 S5=24g4l 8,400 0 8,400
OZANY X2HE 852
8,400,000 8,400
301 LEtE N = 5,000 0 5,000
11 #AIAMHIXIZ S 5,000 0 5,000
OZAIMY HAHEHA 2 HHIXES
5,000,000 5,000
SAHE ABAE 2E2 12,000 0 12,000
201 2= 2,000 0 2,000
02 35244l 2,000 0 2,000
ONHEAE S8k= 2,000,000 2,000
401 Al HIZL 201 10,000 0 10,000
01 Al&H| 10,000 0 10,000
OAHEANE E= 10,000,000 10,000
SES TAITHAALS 775,000 0 775,000
[ 495,000
= 66,000
= 214,000
101 @124H| 112,000 0 112,000
M IRINZZENSES 112,000 0 112,000
OEds SZdH 21|
112,000,000 112,000
207 ARl 152,000 0 152,000
[ 44,118
= 5,882
Ea 102,000
01 1= 152,000 0 152,000
Odur2elMA 7= & 24
50,000,000& 50,000
[ 44,118
= 5,882
OFESH 243t XN
102,000,000 102,000
401 AlEHIZ S 0HbI 511,000 0 511,000
= 450,882
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Chel: SAITHA EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
< 60,118
01 AlIZHI 511,000 0 511,000
OEES TAIMA HIALS
511,000,000 511,000
[ 450,882
= 60,118
SAOAS & H2Xd 21,300 121,300 100,000
S3COIX AL 21,300 121,300 100,000
201 LBt 21,300 21,300 0
01 AtR2telbl 5,900 5,900 0
Oget==ZH| 3,500,000& 3,500
O%ldz 29 +& 2,400,000& 2,400
02 324l 15,400 15,400 0
Oz oRt&E2 JJIes
450,000& + 123 5,400
O8&7&5= FAl2e
2,000,000 *57H 2 10,000
Zu=2el 151,600 151,600 0
2310 E | 151,600 151,600 0
201 L= 1,600 1,600 0
01 At22t2ltl 1,600 1,600 0
O=2Zi= =48 gsS:2
1,000,000 1,000
OfIds 29 =% 100,000& x3& *22 600
401 Al HIZL 01| 150,000 150,000
01 A=l 150,000 150,000
O=221= &Ed| 15,000,000 * 1004 2~ 150,000
HH2LIHI(ZAIHL SO 36,880 34,660 2,220
[=&hl 36,880 34,660 2,220
Jl=&H| 36,880 34,660 2,220
201 Zet2& ] 15,280 14,260 1,020
01 AtR2telbl 15,280 14,260 1,020
Ot~ 15,280,000 15,280
202 04| 16,800 15,600 1,200
01 AL 16,800 15,600 1,200
ORM2I(AIH, MOILL, 938 24 )
600,000& 28H 16,800
203 BR8] 4,800 4,800
M4 FA2LLE A 4,800 4,800
ORN2SYRFLH| 400,000& + 122 4,800
MHRES(SAIINLSEIO) 10,000 10,000
LIS HHKIZE 10,000 10,000
JISdE= 10,000 10,000
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